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X B #f =
miE(m) REAREFH(F) =

EE| RER | mETF 4 XF BARBZDIEHE EHRES _ _ _
1|F= AREE B mAT 5 SERIh D EREE| I -1906 20,114 7,864 14 0 76 41
2 |H= AR %8 BT | =5 SUERIH D ERIE[ 1 -1909 13,095 6,541 6 3 55 45
3 |#FE AR %S B HET | FANE ZtaRith D EREE| 1-1934 12,509 867 16 2 21 43
4 |#H= AR %5 B T | S 4 SERIh O EREE| I -1947 10,970 5,394 12 0 69 34
5 %= R %8 B T | S 4 SERIHh D FRLE| 1 -1950 21,738 6,683 15 0 54 49
6 |Fh= AR 25 s SE T B35 0 SUERIH D ERIE[ T -1951 6,058 759 35 1 14 58
118 = AR %5 BT | B oR SERIHh D ERLE| 1 -1955 33,113 10,645 80 31 34 52
8 |#E= AR %S B SmAT | KB SERIHh D FREE| 1 -4690 6,002 1,183 6 1 16 47
9 ¥ = R %5 B i T | S 4 SERIHh D FREE| 1 -4705 12,530 3,842 3 1 24 39
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BRI | e iy g | EEIP sy e (km2)
E AR 25 5 5 T 8-421-1-071 65,809 0 45 0 0.20
E AR 25 5 5 T 8-421-1-901 12,481 0 16 0 0.02
= R 25 B35 R T 8-421-2-083 52 449 0 44 0 0.02




